
hien revolution enabled large scale production? 
(a) White revolution (bndustrial revolution
(c) Communication revolution (d) Information revolution

Biosphere comprises of: 

aPlants and Animals b) Industries and Roads 

(c) Mountains and Plains d) Animals and Lands 

Who is modifying the nature to fulfil their need? 

a) Animals (b) Ecosystem

(C)Haman being (d) Atmosphere 

Environer is a French word and its meaning is: 

(a) Childhood (bNeighbourhood

(c) Trees (d) Playground

Which of the following is not a part of natural environment? 

(a Animals tb) Land (c) Plants dy Breads 
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